mAST) b

431,797,728
255,268,325
213,307,192
188,502,769
782,795,654

286,120,292
162,901,611
410,414,820
339,197,856
787,984,350

321,554,133
501,323,094
130,315,432
331,756,525
255,793,580

138,133,458
78,797,376
48,579,520

333,990,454
30,662,815

112,254,700
134,165,582
446,992,854
360,192,090
911,425,650

132,819,526
134,328,162
152,341,434
573,871,482
383,559,375

259,075,938

66,847,980
613,142,160
765,408,815
154,527,478

415,118,032
91,134,940
115,060,752
59,986,710
92,694,924

464,982,624
122,701,096
195,407,520

89,155,965
598,780,160

17,749,224
126,930,964
335,871,316
124,714,050
342,832,896

301,017,528

73,308,696
219,902,760
340,544,440
365,195,352

774,626,532
126,509,338
117,730,745
114,325,395
504,037,590
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1| §8,247 5,024 =
20 2,745 3,085 =
3| 4£/,0468 &,/ 94 =
4| 23,457 2,0/7 =
5 2/,8502 E,5X7 =
6| 70,/ 93 4,58/ =
N 4,29/ 7,234 =
8| 2/,073 b,/ 84 =
o 42,297 7,825 =
10| £9,2/0 5,/98 =
"M £3,L7 5 /348 =
12| 492,073 2,734 =
13 &/,76L 5,467 =
14| 76,2/ 5 4,726 =
15| 24,/78 7,678 =
16 £3,5/7 3,/ 0L =
17| /2,948 &5,/ 64 =
18| 62,540 7,804 =
190 78,4/ 8 2,76/ =
20 £7,6368 2,68/ =
211 £0,7/68 7,/ 68 =
2| X&E,/36 4,36/ =
8| 49,760 3,947 =
24 67,085 /. 3RL7 =
25 73,260 &,096 =
26| 60,7368 4,956 =
21| 8,547 2,568 =
28| £7,598 4,620 =
29| 63,940 5,326 =
0| §7,.8594 6,308 =

FO(21~30)
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3| 23,0/7 3,076 =
2 £50,/39 S, L4 9 =
B 4£9,308 E, 34 =
4| /.84 3,674 =
Bl £7,350 2,02/ =
6| L&,/79 4,702 =
37| 32,086 2,0/ 6 =
8| /4,90 3,256 =
9 &/,873 5,398 =
0 /2,835 2,389 =
“n £3,9/7 2,078 =
2( 70,723 /. E7Y =
43 /7,029 &, 746 =
4 78,59/ 7,302 =
45| P4,/ 25 4,075 =
46| 746,584 4,278 =
4711 £2,4/0 /534 =
8| 30,/68 3,8/ 4 =
49| /46,8503 3,570 =
50 £6,793 /,068 =
51| /0,236 /7Y =
52 /7,256 7,069 =
53| £0,564 4,769 =
54 47,4/ 3 /,850 =
55| 5&,976 &,776 =
56| 70,642 &, 546 =
57| 53,40 2,369 =
58 P4,7/5 /W RES =
59 3&,7/5 2,753 =
60| &/,36X 6,/ 7% =




